Math 30-2								Name: 				
Assignment 1: Characteristics of Exponential Functions and Solving Exponential Functions

1. Fill in the following chart:

	
	

	

	


	Domain


	
	
	

	Range


	
	
	

	x-intercept


	
	
	

	y-intercept


	
	
	

	Equation of Asymptote

	
	
	

	Increasing or Decreasing?

	
	
	




2. Determine the equation for each graph:
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3. Algebraically solve each of the following equations:



[bookmark: _GoBack]a. 							b. 













c. 							d. 













e. 							f. 














g. 						h. 













i. 							j. 








k.								l. 






4. 
Describe how to determine the solution of  graphically, and give the value of x to the nearest tenth.





[image: ]








5. [image: ]









[image: ]





6. 
image3.wmf
3

4

x

y

æö

=

ç÷

èø


oleObject3.bin

image4.png




image5.png




image6.wmf
12

24

xx

+-

=


oleObject4.bin

image7.wmf
21

464

x

-

=


oleObject5.bin

image8.wmf
2

327

xx

+

=


oleObject6.bin

image9.wmf
32

4

1

25

5

x

x

-

+

=


oleObject7.bin

image10.wmf
41

1664

xx

-

=


oleObject8.bin

image11.wmf
313

381

xx

-

=


oleObject9.bin

image12.wmf
2

1

9

27

x

x

+

æö

=

ç÷

èø


oleObject10.bin

image13.wmf
4

216

x

=


oleObject11.bin

image14.wmf
131

24

xx

--

=


oleObject12.bin

image15.wmf
393

x

=


oleObject13.bin

image16.wmf
2

312

x

+=


oleObject14.bin

image17.wmf
1

3(5)15

x

+

=


oleObject15.bin

image18.wmf
12

23

xx

--

=


oleObject16.bin

image19.png
51 04 puremath30 released items 2009 final pd - Adabe. =@

x

‘s

<

B B|e 2|k Tools = Sign | Comment

Numerical Response

To the nearest hundredth, the value of x that satisfies the equation 5" = 62551
is .

(Record your answer in the numerical-response section on the answer sheet. )|

4. When the equation log, (\/; ) =3 is solved for n in terms of a, where a >0,

850x11.00in

a#1. the regulting equation is
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39. The graph of y=a""2 has a y-intercept of
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o Use the following information to answer the next question.
®
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Y

The point P(— 1 %) lies on the graph of the exponential function f(x) = 5".

(=]

0. The value of the base, b, of the exponential function, f, is
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